MARW®D

GROUP LTD

Installation of the Pedestrian Gate and Vehicle Gate with barriers

The installation requires a minimum of two persons.

If the site has already deployed the barriers with fences, the 6m bi-fold vehicle gate requires a clear
space of a minimum 6.3m and the pedestrian gate requires a minimum of 1.5m

Based on the site-specific risk assessment, determine which way the gate will open, i.e. inwards or
outwards. Take into consideration if there are access roads and pavements. Each site is different but as
a general guide, the padlock access box must be on the public side and the other side is the restricted
site that is being protected by the gate.

For the 6m bi-fold gate, there are two locking bars found horizontally on the inside for additional
security. Both can be padlocked (padlock not supplied)

The pedestrian gate has additional lugs as it fits more than one type of fence post to connect to Marrobar
system, Mass barrier system, V28 system, and Universal system.

Marrobar Barrier System

Posts required for fixing gate:
2 x RB22 Gate Post

Fixings required for gate:
4 X M12 X 45, 4 X M12 Nut & 4 X M12 Washer

Installation Steps

Starting with one Marrobar barrier and one RB22 Gate Post.

Fit one RB22 Gate Post in one of the socket.

Repeat Step 2 in the other socket.

Repeat Step 2 and 3 on the other block.

Two persons’ operation: Position the gate lugs over the RB22 Gate Post lugs.
Once aligned and in position, add the two M12 x45 bolts with washer and nut.

NS » N

Securely tighten all the bolts/nuts/washers.

il i
i
i
m'.ump'[; Jw‘u;;l;m
it unml il

,mll i

i e
A ¢
mnull‘"’{uuﬂlﬂ,‘:':‘\ il gy
I

e
,Wlmml,‘;,’}ﬂnm tf

i
:‘:.':.'.‘:'::,I.,‘m.,.,..N,I
"""" ’ Nl“l il II"UWIY‘
I““ llllllll il i
il I':.'"u.'.'r.'wn..
il

i

, .
ul ”uH , il “
uum ‘Hnmuu ity i
ittt i
l nh!"Hﬂ‘umm;;;{hum“ul

L

Author: Technical Specifier www.marwoodgroup.co.uk MG838/0121




MARW®D

GROUP LTD

M
ass Barrier System

I (0] q g g .
StS re LIII'ed f()l lleIl ate

lel“ S lequ“ed I()l ate.
7

Installation Steps

1. Sta .
rting with
hole. one mass barrier, ali
, allign .
Repeat Step 1 in th gn and insert the Asset G
T e . at .
OWO persons’ Opera:pposlte mass barrie e Post into the barrie
nce aligned ion: Positio r connecti T connecti
and i ) n th ing hol mng
Repeat Step 4 din poSltiOn add ¢ gate IugS over thi €
p4on the ) ’ the tw e Asse
Securely tight opposite sid 0 M12 x45 bol t Gate Post lu
ghten all the bolts/n tE./ olts with washer a dgs on the two post
uts/washe nd N3y >
TS. N

(@)
NSNS

IIIIIIIIIIIlllllIIIIIIIIIIIIlII| T
mmn|u|u|||n||mm|||m i
unmumuu||u||n|||m|||||||n 1
unm||m||mnm|||nu|||u|mn
n||||mumumumnmnmunun |
i s
i uunlunmunun
|||uum|||||H|||mnm|m| i
i W
g i
g e
umn|||||mm||||nmm e
‘nmnmm|mmm||u|||m|u||||n|mm|||n
i i i
uu||u||||unmum||m|||u|||u|| il
mummmunm|||m|||||nm|m
numnunun||nn|m||m|||nm i
|mnnmnmum||m|uu|||1||mu il
ummnunmnmmmu gt
i i
e i
il i
il 1u|m|m'||
|||||mum| i
i unmpnmuulumuum
[l il IIIIIIIIII lIIIIlIIlI IIIIIIIIlIlI

il
”mnmm

i1
Il
I

i

i

Author:
: Technic
al Specifi
er
WWW.marw
oodgrou
p.co.uk
MG838/
0121




v
28 Barrier System

Posts r
equir
2x V2 ed for fixi
8 Gate Post bi.):cri:g gate:
et

Fixin
gs require
d for
gate:

GROUP LTD

2X45
, 4
X M12 Nut & 4 X M12
Washe
T

Fixin
S .
gs required for post t
o blOCk'

4 X M2
4
x 300 bolt with spa
cer

I
nstallation Step
s

1

Startin,
g with one
block, ali
, align the
V28
post bracket over the
pre-positi
oned conc
rete block h
oles.

V28 Ga
te post
are clearly marked L
EFT and
RIGHT

\O
Neles
® 3 -
(6]
N

/‘

i
I
[

Author:
r: Technical Specifi
ier

it

i
]

Bolt on
e M24 x 3
00 with
spacer in
the fi
e first hole then add
washer an
d nut o
n the oth
er side.

Repeat
St .
Repeat Sth i in second hole b
Tlghten allpb land 3 on the Othelow_
Two olts whe er block

persons’ n the .. .
Once ahgnrelz operation: P(I)Ds(;ffc is in correct and

and in positi ion the stable positi
Posltlon/ add th gate lugs over th pOSltlon on gro
e two M12 x45 e V28 post | und.
x45 bolts wi ugs on th
with wash e first
er and nu pOSt brack
t. et.

Repeat
Step 6
Securely tight and Step 7 on the
en all the bolts/n ?:her block
uts/wash ’
ers.

st
I
s
i
i)
A
el
A
st
i
it
THHH
fim
i) L
il ﬂnmmumunml
it |||mm|mmmu||
11 it |
T fmmi
iy
i
Tk
i
ummmmmnm
mmumluumm

g

|
il | o

it

il ey

i

i

i

il i

i i o

i

i

i
i

i

il
il
it
il
il

!
i
g i
i 18 il
il it
i iy
T
TR
s
mmu:mn

L
i
i
il
i
i

1

i
i
i

firt
il

i
il

20
fHt
T
g
i
i
i
i
i i i
i lmlmumnummmm i
iy il i il
il M L
I
i i
i

.
fit
0 uumnnulnlm
lmullllllmmnm
llulummnulllnn il
lmmlmmlllnmu i
mummnlulmuu il
|m|1|m||||||m|l||| il
||m|mum|||u|u|| i
uHIlIHHIIHIllm Jigmn
it
it
i
i
i
il

i
i
il

il

g T
et s,
st
mmmuumnluu 1l
(mlmuulnnmml 1
|vm||u|u|um|um it
nmnlnnnllnuuu il i
nmllmumuunlu il il
muullllmumllm i
it i
i
i

"
anii
e

iy

i

i

i

i

i

it

sttt B
i s

i i

i g
i it
pi i
it i
i Wt

i
pmnst
T
Juimt
i
bt

gy

iy
fitrr
i il
1
il
i

i
it
i
i

i

it
T

it
A
i

I
iy
e
st
ity
|m|mnum|mn
i i
it Sty
i mmm»mumu
i un|mmmuml|m||n|
i L il
it 3

il
T
it
i
i
nunummmlm

i
il
it
i
i

f
i
st
L i
et il stk
mnumnlmuu
mmnlmnmm |
mDIIIIIIIIIIIIIIIIIIIIHII i
mlumlmuumum i A1t
IllHllllllllllllllllllll g i
S
iy
i
it il
i e
il it
i sunnin
i Lt il

i
i
iy

i
i

i
it
il
il

il
i
i

it
b
it

il
Tl
i
]

il
i

R
mmmmllumm il
muumnlllmmm s
IIIIHIIIIIIIIVIIIIIIIII e
|nm|||lmumm|n i
umlmmlluul I
ity s i
il
f AT |
il it il
i muulmnmtwlm

it

it

o1 Hi
il
frt]
T

[ T
il
I“IIllIlIHYlII ||||l|l|i

i
i

lmnn“m il

T pii

i St g i

f iy i it

i mnmmmmmuu bl

i
T
i
fitrmni

it i

i
i}
i

Tl
il

il
i
II|IlI

T

www.ma
Marwoo
MG838/
0121




MARW®D

GROUP LTD

Universal Barrier System

Posts required for fixing gate:
2 x Univeral 2000 Gate Post
1 x Universal 2000 Infill Post

Terminators required:
1 x Universal 2000 Female terminator.
1 x Universal 2000 Male terminator.

Fixings required for gate:

4 x M12x45+Nyloc Nut for attaching to gate

4 x M8x60+nut

2 x UNI Clamp with cup square bolt M10x80+nut

Installation Steps

For the Universal Barrier System, pay extra attention regarding the position of the gate post and infill

panel.

1.

Use components Universal 2000 Female terminator and Universal 2000 Male terminator.
Starting from one side in space allocated for the gate, place the appropriate terminator in
position by pushing it against the barrier. Repeat the same process on the other side.

Place 1 x Univeral 2000 Gate Post on one side of the terminator. (Depending on your
arrangement, it is the female terminator) Keep hand and fingers well clear from any tight space.

On the opposite side (male terminator), place the pre-assembled Univeral 2000 Gate Post and
the Universal 2000 Infill Post. This has been pre-assembled for operational reasons.

Secure the Univeral 2000 Gate Post to the Universal 2000 Infill Post with the support return
clamp provided (M8 x 60). Make sure not to trap fingers while fastening the bolts/nuts.

Secure the Universal 2000 Infill Post to the fence panel with the fence clamp provided.

Two persons’ operation: Carefully lift the gate and align it with the lugs present on the gate
post. The pedestrian gate has additional lugs as it is fits more than one type of fence post.

Once aligned against the appropriate lugs, use the M12 x 45 bolts/nuts provided to secure the
gate to the posts.

Author: Technical Specifier www.marwoodgroup.co.uk MG838/0121




MARW®D

GROUP LTD

Operational Steps for the bi-fold vehicle gate

When opening or closing the gate to provide or restrict access to the site.

To operate the 6m gate in non bi-fold mode: -
% Leave the locking bars in.
% Unlock the main padlock.

R

« Carefully open both sections of the gate.

Author: Technical Specifier www.marwoodgroup.co.uk MG838/0121




MARW®D

GROUP LTD

To operate the 6m gate in bi-fold mode: -

Unlock the padlocks if present on the two locking bars.

Unlock the main padlock if present.

Slide the two locking bars on each side.

Carefully fold one of the middle section back on to its joined section of the gate. Repeat
the same process on the opposite side.

The pair gate sections on both sides can now be folded open to provide the entrance.

R
0‘0
R
0‘0
.
0.0

R/
0‘0

Author: Technical Specifier www.marwoodgroup.co.uk MG838/0121




MARW®D

GROUP LTD

To secure the 6m gate, it is recommended to use the locking bars to fully secure both sections
of the gate.

Maintenance

Perform a final check on all posts, bolts, nuts, gates, fences, and barriers where applicable.

Marwood Group always recommends that a site survey and a full risk assessment must be carried
out including loading and ground conditions before using the barrier system. It is the end user’s
responsibility to make sure the system is suitable for its intended use

The post and gate system must never be modified

Contact your local Marwood Group Depot, for replacement & repair to the barrier system

Any defects, security concerns, or damage, contact your nearest Marwood Group Depot

All pictures shown are for illustration purpose only. Different colours shown to distinguish
between components. Actual product may vary due to product specification and manufacturing

process.

Author: Technical Specifier www.marwoodgroup.co.uk MG838/0121




